pull of p
= rnes
%EBEV

10

Ratio

°80-8 6 4 2 0 2 4 6 8 10

[ pull of goverp parameter |

107!

1072

Ratio

0.9,

20 -8 —6 -4

-2 0 2 4 6 8 10

,_Dw_m_ T — XIMINUSNOPU_base
== DOM_CKF_XiMinusNOPU _retrainOldFiles125 v2_prelimWPM_epoch2 |

[ pull of @parameter |
107"

1072

1073

Ratio

=108 6 4 -2 0 2 4 6 8 10

g

(=R
n U1
T[T T

[ pull of dxy parameter |

107}

1072

Jany

S
IS
T

Ratio

CIRARRNRRRE)

O R e R R B - B

|
=T

[ pull of 6 parameter |

107}

1072

1073

[any
OI
I
TTTT]

[y
IRRRRNRERE}

=10 -8 -6 -4

[
=

S0 A6 8 10

[ pull of dz parameter

AIES 0,04
T R St S IS ﬁ” iy
E rnes - _.Oogg
i onséam. _%0 §
1073 fp -
(omed= | SR 11 | ] ERIEREEs -
O J..J.E IIII L L I —
IES 1.05;— ¥
o
L s SRR FREL PUTC-YIOF EPPRT ERPRT SRRRY:
00TETIE 420 2 4 6 810



	Contents
	Page 1


